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In a pnp transistor the current carriers are

a. Acceptor ions b. Donor ions

c. Free electrons d. Holes

The value of f of a transislor is generally

a1 b. Less than 1

c. Between 20 and 500 d. Above 500

The most commonly used semiconductor in the manufacture of a transistor is
a. Germanium b. Silicon

c. Carbon d. None of the mentioned
Transistor biasing is done tokeep_in the circuit.

a. Proper direct current
¢. The base current small d.

b. Proper alternating current

Collector current small

The circuit that provides the best stabilization of operating point is

a. Base resistor bias b. Collector feedback bias
¢. Voltage divider bias d. Emitter bias
The ideal value of stability factor is
a. 100 b. 200
¢ Nore than 200 d. 1
A single stage transistor amplifier contains ‘and associated circuit.
a. Two transislors b. One transistor
c. Three transistors d. Four transistors
The purpose of capacitor in a transistor amplifier is to
a. Protect the transistor b. Cool the transistor
¢. Couple or bypass the ac component d. Providing, biasing
The common-mode gain is
a. Very high b. Very low
¢. Always unity d. Unpredictable

A voltage follower

a. Has a voltage gain of 1 b. Is non-inverting

c. [as no feedback resistor

An oscillator converts
A a.c power into d.c. power
¢ mechanical power into a.c. power

=2
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d. All of the mentioned

d.c. power inlo a.c. power
None of the mentioned
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[ Descrigtive]
Time : 2 hrs. 30 min. Marks : 50
[ Answer question no.1 & any four (4) from the rest |

a. Explain the forward biased and reversed biased pn junction with 8+2=10
suitable current-voltage characteristics.

b. What do you mean by an ideal diode? Draw the circuit and
characteristics for an ideal diode.

a. Draw the circuit diagram and explain the operation of a half-wave 3+4+43
rectifier. 10
b. Derive the expression for the cfficiency of a half-wave rectifier.
c. A crystal diode having internal resistance of 20Q is used for half-
wave rectification. If the applied voltage v = 50 sin wt and
R1.=80082, find (i) rms current, (ii) ac and dc power output, (iii)
efficiency

a. Draw the common emitter (CE) configuration of a transistor and 2444
define the current amplification factor. =10
b.Establish the relation between a and {3 of a transistor and find the
expression for collector current in CE configuration
c. (i) Calculate Iy for which =50 and In=20p A,
(if) A transistor is connected in CE mode. Collector supply is 8V
and voltage drop across load resistor is 0.5V. If a=0.96 and load
resistor is 80082, calculate collector-emitter voltage and base
current.

a. What do you mean by transistor biasing? What is its need? 2+3+5
e e - : - . g =10
b.Define stability factorS. Derive the general expression of S for CE

mode transistor configuration.

c. Figure below shows the biasing with base resistor method.
Determine Ic and Ve (neglect Vig: and =50). If Ry in the circuit is
changed to 50k€2, find the new operating point.
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